

Mathematical Induction In Proving Theorems

Mirzakarimova Nigoraxon Mirzaxakimovna

Senior lecturer at the Department of Mathematics at Fergana State University, Uzbekistan

Xolmatov Axrorjon Xakimovich

Teacher at Academic Lyceum No. 2 under Fergana Technical University, Uzbekistan

Received: 30 September 2025; **Accepted:** 23 October 2025; **Published:** 28 November 2025

Abstract: This article presents the proof of a number of theorems using the convenient method of mathematical induction.

Keywords: Mathematical induction, proper fractions, canonical representation of a number, positional systematic number.

INTRODUCTION:

Proving problems, as well as proving theorems, properties and propositions, and memorizing them, creates a number of difficulties for students. In many cases, for this reason, problems that require proof are neglected by students. Such problems can often be overcome by using the method of mathematical induction. That is, some theorems, identities, propositions and properties can be proved more easily by the method of mathematical induction than by other methods of proof. Below we present the proofs of several such theorems using the method of mathematical induction.

induction. That is, some theorems, identities, propositions and properties can be proved more easily by the method of mathematical induction than by other methods of proof. Below we present the proofs of several such theorems using the method of mathematical induction.

$$A_1 \times A_2 \times \dots \times A_s = \{ \langle x_1, x_2, \dots, x_s \rangle \mid x_1 A_1 \in x_2 A_2 \in \dots \in x_s A_s \}$$

Let $N(A) - A$ denote the number of elements of the set.

$$N(A_1) = k_1$$

$$N(A_2) = k_2$$

$$N(A_s) = k_s$$

Then we have

$$N(A_1 \times A_2 \times \dots \times A_s) = k_1 \cdot k_2 \cdot \dots \cdot k_s$$

We shall use the method of mathematical induction to prove this theorem.

Proof. Here $s \geq 2$

$$s = 2, \quad N(A_1) = k_1, \quad N(A_2) = k_2$$

$$\begin{array}{cccccc}
 1 & k_2 & 1 & 1 & 2 & 3 & \dots & k_2 & k_1 \cdot k_2 \\
 2 & k_2 & 2 & 1 & 2 & 3 & \dots & k_2 & \\
 3 & k_2 & 3 & 1 & 2 & 3 & \dots & k_2 & \\
 \vdots & \vdots & \vdots & \vdots & \vdots & \vdots & \vdots & \vdots & \\
 k_1 & k_2 & k_1 & 1 & 2 & 3 & \dots & k_2 &
 \end{array}$$

Thus, it follows that $N(A_1 \times A_2) = k_1 \cdot k_2$ so the statement is valid for $s \geq 2$ Let us assume that for $s-1$; $N(A_1 \times A_2 \times \dots \times A_{s-1}) = k_1 \cdot k_1 \cdot \dots \cdot k_{s-1}$

holds.

For

$$s; \quad N(A_1 \times A_2 \times \dots \times A_s) = k_1 \cdot k_2 \cdot \dots \cdot k_s$$

We shall prove that

$\forall n \in N$ canonical form of the number.

$$\begin{aligned}
 n &= p_1^{\alpha_1} \cdot p_2^{\alpha_2} \cdot \dots \cdot p_s^{\alpha_s} \\
 d &= p_1^{\beta_1} \cdot p_2^{\beta_2} \cdot \dots \cdot p_s^{\beta_s} \\
 0 &\leq \beta_1 \leq \alpha_1 \\
 0 &\leq \beta_2 \leq \alpha_2 \\
 0 &\leq \beta_3 \leq \alpha_3 \\
 &\text{-----} \\
 0 &\leq \beta_s \leq \alpha_s
 \end{aligned} \tag{1}$$

The number of elements in A_1 is $N(A_1) = \alpha_1 + 1$

The number of elements in A_2 is $N(A_2) = \alpha_2 + 1$

The number of elements in A_s is $N(A_s) = \alpha_s + 1$.

Therefore

$$N(A_1 \times A_2 \times \dots \times A_s) = (\alpha_1 + 1)(\alpha_2 + 1) \dots (\alpha_s + 1)$$

Where s is the number of factors.

When finding the number of positive divisors of a number $n \in N$ one can make use of the above theorem.

$$\tau(n) = N(A_1 \times A_2 \times \dots \times A_s) = (\alpha_1 + 1)(\alpha_2 + 1) \dots (\alpha_s + 1) = \prod_{i=1}^s (\alpha_i + 1)$$

Theorem 2. If

$$(a_1, a_2) = \delta_1, \quad (\delta_1, a_3) = \delta_2, \quad (\delta_2, a_4) = \delta_3, \dots, (\delta_{n-2}, a_n) = \delta_{n-1}, \quad \text{therefore}$$

$$(a_1, a_2, \dots, a_n) = \delta_{n-1}.$$

Proof. (by the method of MMI) 1) For $n=2$ the theorem holds, since $(a_1, a_2) = \delta_1$.

2) Assume the theorem is true for $(n-1)$ that is, suppose

$$(a_1, a_2) = \delta_1, \quad (\delta_1, a_3) = \delta_2, \dots, (\delta_{n-3}, a_{n-1}) = \delta_{n-2}$$

And hence

$$(a_1, a_2, \dots, a_{n-1}) = \delta_{n-2}$$

3) We now show that the theorem is correct for $\forall n$ number. We have

$$(a_1, a_2, \dots, a_{n-1}) = \delta_{n-1}$$

It is enough for us to show that $(\delta_{n-2}, a_n) = \delta_{n-1}$. This follows from the following theorem.

Theorem 3. If $(a_1, a_2, \dots, a_{n-1}) = \delta_{n-1}$ and $(\delta_{n-1}, a_n) = \delta$ then $(a_1, a_2, \dots, a_{n-1}, a_n) = \delta$.

Thus, Theorem 2 holds for every natural number $\forall n$. This theorem can also be proved by means of the method of mathematical induction.

Theorem 4. For $(a_1, a_2, \dots, a_n) = 1$ to hold, it is necessary and sufficient that there exist integers $\exists x_1, x_2, \dots, x_n \in \mathbb{Z}$ such that $1 = a_1x_1 + a_2x_2 + \dots + a_nx_n$

Proof. (by the method of MMI)

For $n=2$ it follows that the representation $(a_1, a_2) = 1 \Rightarrow a_1x_1 + a_2x_2 = 1$ is necessary and sufficient. We prove this using the following theorem.

Theorem 5. For $(a, b) = 1$ it is necessary and sufficient that $1 = ax + by$ ($\forall x, y \in \mathbb{Z}$)

Proof: 1) was $\tau_n = \delta = (a, b) = ax + by$. If $\delta \neq 1$, is $1 = ax + by$.

2) Let $1 = ax + by$. We argue by contradiction

$$(a, b) = d > 1 \text{ (that is, they are not coprime).}$$

In this case $a : d$ and $b : d \Rightarrow ax : d$ and $by : d \Rightarrow (ax + by) : d \Rightarrow 1 : d$, $d > 1$ this last statement contradicts our assumption. Our assumption is therefore false, hence $d=1$ va $(a, b)=1$.

II. Assume that Theorem 4 holds for $n-1$, that is

$$(a_1, a_2, \dots, a_{n-1}) = 1 \Leftrightarrow a_1x_1 + a_2x_2 + \dots + a_{n-1}x_{n-1} = 1$$

is necessary and sufficient..

III. We now prove that Theorem 4 holds for every $\forall n \in \mathbb{N}$

$$(a_1, a_2, \dots, a_n) = ((a_1, a_2, \dots, a_{n-1}), a_n) \Rightarrow$$

By Theorem 5 it follows that $a_1x_1 + a_2x_2 + \dots + a_nx_n = 1$ and the theorem is proved.

Theorem 6. For $k \geq 1$ for two consecutive convergents $\frac{P_k}{Q_k}; \frac{P_{k-1}}{Q_{k-1}}$ the identity

$$P_k \cdot Q_{k-1} - Q_k \cdot P_{k-1} = (-1)^{k-1} \text{ holds.}$$

Proof. (by the method of MMI)

I. $n=1$

$$P_1 \cdot Q_0 - Q_1 \cdot P_0 = (q_1q_0 + 1) \cdot 1 - q_1q_0 = 1$$

$$1 = (-1)^{1-1}$$

$$1 = 1$$

II. Assume that for $n=k$ the equality $P_k \cdot Q_{k-1} - Q_k \cdot P_{k-1} = (-1)^{k-1}$ holds

III. We prove that it is also true for $n=k+1$

$$\begin{aligned} P_{k+1} \cdot Q_k - Q_{k+1} \cdot P_k &= (q_{k+1} \cdot P_k + P_{k-1})Q_k - \\ &= (q_{k+1} \cdot Q_k + Q_{k-1})P_k = q_{k+1} \cdot P_k \cdot Q_k + P_{k-1} \cdot Q_k - q_{k+1}P_k \cdot Q_k - \end{aligned}$$

$$\begin{aligned}
 -P_k \cdot Q_{k-1} &= P_{k-1} \cdot Q_k - P_k \cdot Q_{k-1} = -(P_k \cdot Q_{k-1} - Q_k \cdot P_{k-1}) = -(-1)^{k-1} \\
 &= -(-1)^{k-1} = -(-1)^{k-1+1} \\
 &= (-1)^{k-1} \cdot (-1) = (-1)^k \\
 &= (-1)^k = (-1)^k
 \end{aligned}$$

Thus the theorem $\forall n \in N$ is proved.

$q > 1$, $M = \{0, 1, 2, \dots, q-1\}$ - are the digits.

Definition

$$a = a_s q^s + a_{s-1} q^{s-1} + \dots + a_1 q + a_0 \quad (2)$$

A number $a \in N$ written in the form $a_i \in M$, $i = \overline{0, s}$ is called a number of the positional system with base q .

The numbers $a_0, a_1, a_2, \dots, a_s$ are called the positional digits.

REFERENCES

1. N. Mirzakarimova. "Algebra" . O'quv qo'llanma, Farg'ona 2025 y, 247 b.
2. X.Maxmudov. "Algebra va sonlar nazariyasidan amaliy mashg'ulotlar". I qism. Farg'ona 2002 y, 118 b.
3. T.A.Azlarov taxriri ostida. "Matematikadan qo'llanma". I qism.1979 y,448 b.
4. I.S.Sominskiy. "Matematik induksiya metodi". Toshkent. 1968 y, 54 b.